Test 1 FRI FEB 2 1.1-1.4, 2.1-2.2 5 Questions, with parts Bring calculator Bring music learplugs Practice Problems on website

Example: Solve by Gauss-Jordan Elimination:

Example: Find the intersection of the two lines:

Sub

$$\vec{x} = \begin{bmatrix} -5\\ 6\\ 5 \end{bmatrix} + s \begin{bmatrix} 2\\ 1\\ -1 \end{bmatrix} \text{ and } \vec{x} = \begin{bmatrix} -5\\ 4\\ -1 \end{bmatrix} + t \begin{bmatrix} 1\\ 1\\ 1 \end{bmatrix}$$

$$\vec{x} = \vec{x}$$

$$\begin{bmatrix} -5\\ 6\\ 5 \end{bmatrix} + 4 \begin{bmatrix} 2\\ 1\\ -1 \end{bmatrix} = \begin{bmatrix} -5\\ 4\\ -1 \end{bmatrix} + t \begin{bmatrix} 1\\ 1\\ 1 \end{bmatrix}$$

$$4 \begin{bmatrix} 2\\ 1\\ -1 \end{bmatrix} - t \begin{bmatrix} 1\\ 1\\ -1 \end{bmatrix} = \begin{bmatrix} -5\\ 4\\ -1 \end{bmatrix} - \begin{bmatrix} -5\\ 6\\ 5 \end{bmatrix}$$

$$4 \begin{bmatrix} 2\\ 1\\ -1 \end{bmatrix} + t \begin{pmatrix} -1\\ -1\\ -1 \end{bmatrix} = \begin{bmatrix} -5\\ 4\\ -1 \end{bmatrix} - \begin{bmatrix} -5\\ 6\\ 5 \end{bmatrix}$$

$$4 \begin{bmatrix} 2\\ 1\\ -1 \end{bmatrix} + t \begin{pmatrix} -1\\ -1\\ -1 \end{bmatrix} = \begin{bmatrix} -5\\ -2\\ -2\\ -6 \end{bmatrix}$$

$$\begin{cases} 2A - t = 0\\ 1A - t = -2\\ \dots \end{cases}$$

$$\begin{bmatrix} 2A - t = 0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = 0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} 2A - t = -0\\ 1A - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 - t = -2\\ \dots \end{bmatrix}$$

$$\begin{cases} A + t = -1\\ 0 -$$

Example: How many solutions does the following system have?

$$\begin{aligned}
 x + ky &= 1 \\
 kx + y &= 1 \\
 \begin{bmatrix} 1 & k & | & 1 \\ k & | & 1 \end{bmatrix} \\
 \begin{bmatrix} 1 & k & | & 1 \\ k & | & 1 \end{bmatrix} \\
 R_{2} - kR_{1} & \begin{bmatrix} 1 & k & | & 1 \\ 0 & | & -k^{2} = 0 \\
 1 - k^{2} = 0 \\
 1 - k^{2} = 0 \\
 (1 - k) (1 + k) = 0 \\
 \hline
 1 - k^{2} = 0 \\
 (1 - k) (1 + k) = 0 \\
 \hline
 k = 1 \\
 1 - k^{2}
 \\
 K = -1 \\
 1 - k^{2}
 \\
 K = -1 \\
 1 - k^{2}
 \\
 K = -1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\
 1 - 1 \\$$

 $\int N_0 \, S_0 \left[uhion \quad if \quad k = -1 \\ \infty \, many \, s_0 \left[uhions \quad if \quad k = 1 \\ 1 \, unique \, s_0 \left[uhion \quad if \quad 1 - k^2 \neq 0 \right] \right]$

Definition: The **rank** of a matrix is the number of nonzero rows in its REF or RREF. **Fact:** If a system is consistent then: rank+(# of parameters in solution)=# of variables

Example: Verify the fact for the following system:

$$= \begin{bmatrix} 1 & 1 & 1 & 1 \\ 1 & 0 & 3 & | & 4 \\ 0 & 1 & 5 & | & 6 \\ 0 & 0 & 0 & | & 0 \end{bmatrix} RREF$$

$$= \begin{bmatrix} r & ank = 2 \\ \# & of parameters insolution = 1 \\ \# & of variables = 3 \\ \# & of variables = 3 \end{bmatrix}$$

Example: Rephrase the fact in terms of columns of the coefficient matrix.